Notes on Number Theory and Discrete Mathematics Print ISSN 1310–5132, Online ISSN 2367–8275 2022, Volume 28, Number 1, Pages 92–99 DOI: 10.7546/nntdm.2022.28.1.92-99

Sums involving generalized harmonic and Daehee numbers

Neşe Ömür¹ and Sibel Koparal²

¹ Department of Mathematics, University of Kocaeli 41380 İzmit, Kocaeli, Turkey e-mail: neseomur@gmail.com

² Department of Mathematics, University of Bursa Uludağ 16059 Nilüfer, Bursa, Turkey e-mail: sibelkoparall@gmail.com

Received: 24 January 2021 Accepted: 16 February 2022 Revised: 11 February 2022 Online First: 17 February 2022

Abstract: In this paper, we establish some sums involving generalized harmonic and Daehee numbers which are derived from the generating functions. For example, for $n, r \ge 1$,

$$\sum_{i=0}^{n} H(i, r-1, \alpha) H_{n-i}^{r}(\alpha) = \sum_{l_{1}+l_{2}+\dots+l_{r+1}=n} H_{l_{1}}(\alpha) H_{l_{2}}(\alpha) \cdots H_{l_{r+1}}(\alpha).$$

Keywords: Sums, Generalized harmonic numbers, Daehee numbers. **2020 Mathematics Subject Classification:** 05A15, 05A19, 11B73.

1 Introduction

The harmonic numbers are defined by

$$H_0 = 0$$
 and $H_n = \sum_{i=1}^n \frac{1}{i}$ for $n \ge 1$.

It is well known that

$$H_{n} = \int_{0}^{1} \frac{1 - t^{n}}{1 - t} dt = \gamma + \psi \left(n + 1 \right),$$

where γ denotes the Euler–Mascheroni constant, defined by

$$\gamma = \lim_{n \to \infty} \left(\sum_{i=1}^{n} \frac{1}{i} - \log n \right) = -\psi(1) \approx 0.577215664901532860606512..$$

Harmonic numbers are closely related the Riemann ξ -function defined by

$$\xi(s) = \sum_{i=1}^{\infty} \frac{1}{i^s} = \prod_p \left(1 - p^{-s}\right)^{-1},$$

where the product is over all primes p.

These numbers have been generalized by some authors [1, 2, 4, 9, 16, 18].

In [9], for any $\alpha \in \mathbb{R}^+$, the generalized harmonic numbers $H_n(\alpha)$ are defined by

$$H_0(\alpha) = 0$$
 and $H_n(\alpha) = \sum_{i=1}^n \frac{1}{i\alpha^i}$ for $n \ge 1$.

For $\alpha = 1, H_n(1) = H_n$ are the usual harmonic numbers and the generating function of the generalized harmonic numbers is

$$\sum_{n=1}^{\infty} H_n(\alpha) x^n = -\frac{\ln\left(1-\frac{x}{\alpha}\right)}{1-x}.$$

In [15], for the generalized harmonic numbers $H_n(\alpha)$, the authors defined the generalized hyperharmonic numbers of order r, $H_n^r(\alpha)$ as follows:

Definition 1. For r < 0 or $n \le 0$, $H_n^r(\alpha) = 0$ and for $n \ge 1$, the generalized hyperharmonic numbers of order r, $H_n^r(\alpha)$, are defined by

$$H_{n}^{r}(\alpha) = \sum_{i=1}^{n} H_{i}^{r-1}(\alpha), \ r \ge 1,$$

where $H_n^0(\alpha) = \frac{1}{n\alpha^n}$.

For $\alpha = 1$, $H_n^r(1) = H_n^r$ are the hyperharmonic numbers of order r. The generating function of the generalized hyperharmonic numbers of order r is

$$\sum_{n=1}^{\infty} H_n^r(\alpha) x^n = -\frac{\ln\left(1 - \frac{x}{\alpha}\right)}{\left(1 - x\right)^r}.$$
(1)

In [4, 18], the generalized harmonic numbers H(n, r) of rank r are defined as for $n \ge 1$ and $r \ge 0$,

$$H(n,r) = \sum_{1 \le n_0 + n_1 + \dots + n_r \le n} \frac{1}{n_0 n_1 \cdots n_r}.$$

It is clear that $H(n,0) = H_n$. The generating function of the generalized harmonic numbers H(n,r) of rank r is defined by

$$\sum_{n=0}^{\infty} H(n,r) x^n = \frac{\left(-\ln\left(1-x\right)\right)^{r+1}}{1-x}.$$

In [8], inspired from works [4, 15, 18], $H(n, r, \alpha)$ are defined as for $n \ge 1$ and $r \ge 0$,

$$H(n,r,\alpha) = \sum_{1 \le n_0 + n_1 + \dots + n_r \le n} \frac{1}{n_0 n_1 \cdots n_r \alpha^{n_0 + n_1 + \dots + n_r}}.$$

For $\alpha = 1$, H(n, r, 1) = H(n, r). The generating function of the generalized harmonic numbers of rank r, $H(n, r, \alpha)$, is given by

$$\sum_{n=0}^{\infty} H(n,r,\alpha) x^{n} = \frac{\left(-\ln\left(1-\frac{x}{\alpha}\right)\right)^{r+1}}{1-x}.$$
 (2)

The Cauchy numbers of order r, C_n^r , are defined by the generating functions to be

$$\left(\frac{x}{\ln\left(1+x\right)}\right)^{r} = \sum_{n=0}^{\infty} C_{n}^{r} \frac{x^{n}}{n!}.$$
(3)

The Daehee numbers of order r, D_n^r , are defined by the generating functions to be

$$\left(\frac{\ln\left(1+x\right)}{x}\right)^r = \sum_{n=0}^{\infty} D_n^r \frac{x^n}{n!}.$$
(4)

For r = 1, $D_n^1 = D_n$ are Daehee numbers. It is clear that

$$D_0 = 1, D_1 = -\frac{1}{2}, \dots, D_n = (-1)^n \frac{n!}{n+1}.$$

The derangement numbers d_n are defined by the generating functions to be

$$\frac{e^{-x}}{1-x} = \sum_{n=0}^{\infty} d_n \frac{x^n}{n!}$$
(5)

and $d_n = \sum_{k=0}^n (-1)^k \frac{n!}{k!}$ [5].

The generalized geometric series are given by for $a, b \in \mathbb{Z}^+$,

$$\sum_{n=b}^{\infty} {a+n-b \choose n-b} x^n = \frac{x^b}{(1-x)^{a+1}},$$
(6)

and the exponential generating function is

$$e^x = \sum_{n=0}^{\infty} \frac{1}{n!} x^n$$

Let $F(x) = \sum_{n=0}^{\infty} a_n x^n$ and $G(x) = \sum_{n=0}^{\infty} b_n x^n$ be two generating functions. The product of these functions is given as follows:

$$F(x)G(x) = \left(\sum_{n=0}^{\infty} a_n x^n\right) \left(\sum_{n=0}^{\infty} b_n x^n\right) = \sum_{n=0}^{\infty} c_n x^n,$$
(7)

where $c_n = \sum_{k=0}^n a_k b_{n-k}$.

Recently, there are many studies including generalized harmonic and special numbers which are obtained by generating functions [6–8, 10–14, 20].

In [17], Rim et al. investigated some identities with hyperharmonic, Daehee and derangement numbers. For example, for any positive integer n,

$$\sum_{i=0}^{n} H_{i}^{r} \frac{(-1)^{n-i}}{(n-i)!} = \sum_{i=0}^{n} H_{i}^{r-1} \frac{d_{n-i}}{(n-i)!}$$

In [8], Duran et al. obtained sums including generalized harmonic numbers and special numbers. For example, for any positive integers n, r and m,

$$H(n,r,\alpha) = \sum_{i=0}^{n} \sum_{j=0}^{i} (-1)^{n-j-r} \binom{m-1}{n-i} \frac{H_{j}^{m}(\alpha) s(i-j,r)r!}{\alpha^{i-j} (i-j)!},$$

where the Stirling numbers of the first kind s(n, i) are given by

$$x^{\underline{n}} = \sum_{i=0}^{n} s(n,i)x^{i},$$

where for $n \ge 0$, $s(n,0) = \delta_{n0}$, δ_{ni} is the Kronecker delta [3, 19]. $x^{\underline{n}}$ stands for the falling factorial defined by $x^{\underline{n}} = x (x - 1) \dots (x - n + 1)$.

In [11], Kim et al. gave some new identities involving harmonic and hyperharmonic numbers which are derived from the transfer formula for the associated sequences. For example, for $n, r \ge 1$ and $1 \le k \le n$,

$$\binom{(r+3)n-k-1}{n-k}(n-1)^{\underline{n-k}}$$

$$= \sum_{a=k}^{n} \sum_{l=0}^{n-a} \sum_{i=0}^{n} \sum_{j_1+j_2+\dots+j_n=a-k}^{n} \left(\sum_{m_1=1}^{j_1+1} \cdots \sum_{m_n=1}^{j_n+1} m_1 \cdots m_n H_{m_1}^r \cdots H_{m_n}^r \right) l! r^l$$

$$\times \binom{n+l-1}{l} \binom{n-1}{a-1} s (n-a,l) (a-1)^{\underline{n-k}}.$$

2 Sums with the generalized harmonic numbers of rank *r* and special numbers

This section, we will give some sums involving these numbers, using the generating functions of the generalized harmonic numbers of rank r and special numbers.

Theorem 2.1. Let *n* be a positive integer. For $r \ge 1$,

$$\sum_{i=0}^{n} H(i, r-1, \alpha) H_{n-i}^{r}(\alpha) = \sum_{l_{1}+l_{2}+\dots+l_{r+1}=n} H_{l_{1}}(\alpha) H_{l_{2}}(\alpha) \dots H_{l_{r+1}}(\alpha)$$
$$= \sum_{i=0}^{n} (-1)^{i} \binom{n-i-1}{r} \frac{D_{i}^{r+1}}{i!\alpha^{i+r+1}}.$$

Proof. By (1) and (2), we consider that

$$\frac{\left(-\ln\left(1-\frac{x}{\alpha}\right)\right)^{r}}{1-x} \cdot \frac{-\ln\left(1-\frac{x}{\alpha}\right)}{\left(1-x\right)^{r}} = \left(\sum_{n=0}^{\infty} H\left(n,r-1,\alpha\right)x^{n}\right)\left(\sum_{n=0}^{\infty} H_{n}^{r}\left(\alpha\right)x^{n}\right),$$

and using (7), equals

$$\sum_{n=0}^{\infty} \sum_{i=0}^{n} H(i, r-1, \alpha) H_{n-i}^{r}(\alpha) x^{n},$$
(8)

and

$$\frac{\left(-\ln\left(1-\frac{x}{\alpha}\right)\right)^{r+1}}{\left(1-x\right)^{r+1}} = \left(\frac{-\ln\left(1-\frac{x}{\alpha}\right)}{1-x}\right) \times \left(\frac{-\ln\left(1-\frac{x}{\alpha}\right)}{1-x}\right) \times \dots \times \left(\frac{-\ln\left(1-\frac{x}{\alpha}\right)}{1-x}\right)$$
$$= \left(\sum_{l_{1}=0}^{\infty} H_{l_{1}}(\alpha) x^{l_{1}}\right) \left(\sum_{l_{2}=0}^{\infty} H_{l_{2}}(\alpha) x^{l_{2}}\right) \dots \left(\sum_{l_{r+1}=0}^{\infty} H_{l_{r+1}}(\alpha) x^{l_{r+1}}\right)$$
$$= \sum_{n=0}^{\infty} \sum_{l_{1}+l_{2}+\dots+l_{r+1}=n} H_{l_{1}}(\alpha) H_{l_{2}}(\alpha) \dots H_{l_{r+1}}(\alpha) x^{n}.$$
(9)

Also, from (4) and (6), we have

$$\frac{\left(-\ln\left(1-\frac{x}{\alpha}\right)\right)^{r+1}}{\left(1-x\right)^{r+1}} = \left(\frac{\ln\left(1-\frac{x}{\alpha}\right)}{-x}\right)^{r+1} \frac{x^{r+1}}{\left(1-x\right)^{r+1}} \\
= \frac{1}{\alpha^{r+1}} \sum_{n=0}^{\infty} (-1)^n D_n^{r+1} \frac{x^n}{n!\alpha^n} \sum_{n=r}^{\infty} \binom{n}{r} x^{n+1} \\
= \sum_{n=0}^{\infty} (-1)^n D_n^{r+1} \frac{x^n}{n!\alpha^{n+r+1}} \sum_{n=r+1}^{\infty} \binom{n-1}{r} x^n \\
= \sum_{n=0}^{\infty} \sum_{i=0}^n (-1)^i \binom{n-i-1}{r} \frac{D_i^{r+1}}{i!\alpha^{i+r+1}} x^n.$$
(10)

Hence from (8), (9) and (10), the desired results are obtained.

Theorem 2.2. Let n and r be positive integers. For $m \ge 2$,

$$\sum_{i=0}^{n} H(i, m-2, \alpha) H_{n-i}^{rm-1}(\alpha) = \sum_{l_1+l_2+\dots+l_m=n} H_{l_1}^r(\alpha) H_{l_2}^r(\alpha) \cdots H_{l_m}^r(\alpha),$$

and

$$\sum_{i=0}^{n} H(i, rm-2, \alpha) H_{n-i}^{m-1}(\alpha) = \sum_{l_1+l_2+\dots+l_m=n} H(l_1, r-1, \alpha) H(l_2, r-1, \alpha) \cdots H(l_m, r-1, \alpha).$$

Proof. The proof is similar to the proof of Theorem 2.1.

Theorem 2.3. Let n be a positive integer. For $r \ge 1$,

$$\sum_{i=0}^{n} (-1)^{i} \frac{C_{i}}{\alpha^{i-1} i!} H(n-i+1,r+1,\alpha) = H(n,r,\alpha).$$

Proof. From (2) and (3), we write

$$\sum_{n=0}^{\infty} H(n,r,\alpha) x^{n} = \frac{\left(-\ln\left(1-\frac{x}{\alpha}\right)\right)^{r+2}}{1-x} \frac{-x/\alpha}{\ln\left(1-\frac{x}{\alpha}\right)} \frac{\alpha}{x}$$
$$= \sum_{n=0}^{\infty} H(n,r+1,\alpha) x^{n-1} \sum_{n=0}^{\infty} (-1)^{n} C_{n} \frac{x^{n}}{\alpha^{n-1}n!}$$
$$= \sum_{n=0}^{\infty} H(n+1,r+1,\alpha) x^{n} \sum_{n=0}^{\infty} (-1)^{n} C_{n} \frac{x^{n}}{\alpha^{n-1}n!},$$

and by (7)

$$\sum_{n=0}^{\infty} H(n,r,\alpha) x^n = \sum_{n=0}^{\infty} \sum_{i=0}^{n} (-1)^i \frac{C_i}{\alpha^{i-1}i!} H(n-i+1,r+1,\alpha) x^n$$

as claimed. So, the proof is complete.

Theorem 2.4. Let n be a positive integer. For $r \ge 1$,

$$\sum_{j=0}^{n} \sum_{i=0}^{j} H(i, r-1, \alpha) H_{j-i}(\alpha) \frac{(-1)^{n-j}}{(n-j)!} = \sum_{i=0}^{n} H(i, r, \alpha) \frac{d_{n-i}}{(n-i)!}$$

and

$$\sum_{i=0}^{n} \frac{(-1)^{i} d_{n-i-r-1} D_{i}^{r+1}}{\alpha^{i+r+1} i! (n-i-r-1)!} = \sum_{i=0}^{n} H(i,r,\alpha) \frac{(-1)^{n-i}}{(n-i)!}.$$

Proof. By (7), we observe that

$$\frac{\left(-\ln(1-\frac{x}{\alpha})\right)^{r+1}}{(1-x)^2}e^{-x} = \sum_{n=0}^{\infty} H(n,r,\alpha) x^n \sum_{n=0}^{\infty} \frac{d_n}{n!} x^n \\ = \sum_{n=0}^{\infty} \sum_{i=0}^{n} H(i,r,\alpha) \frac{d_{n-i}}{(n-i)!} x^n$$
(11)

and

$$\frac{\left(-\ln(1-\frac{x}{\alpha})\right)^{r+1}}{(1-x)^2}e^{-x} = \frac{\left(-\ln(1-\frac{x}{\alpha})\right)^r}{1-x}\frac{-\ln(1-\frac{x}{\alpha})}{1-x}e^{-x}$$

$$= \sum_{n=0}^{\infty} H\left(n,r-1,\alpha\right)x^n \sum_{n=0}^{\infty} H_n\left(\alpha\right)x^n \sum_{n=0}^{\infty} \frac{(-1)^n}{n!}x^n$$

$$= \sum_{n=0}^{\infty} \sum_{i=0}^n H\left(i,r-1,\alpha\right)H_{n-i}\left(\alpha\right)x^n \sum_{n=0}^{\infty} \frac{(-1)^n}{n!}x^n$$

$$= \sum_{n=0}^{\infty} \sum_{j=0}^n \sum_{i=0}^j H\left(i,r-1,\alpha\right)H_{j-i}\left(\alpha\right)\frac{(-1)^{n-j}}{(n-j)!}x^n.$$
(12)

From here, (11) and (12) yield the desired result. From (7), we write

$$\frac{\left(-\ln(1-\frac{x}{\alpha})\right)^{r+1}}{1-x}e^{-x} = \sum_{n=0}^{\infty} H\left(n,r,\alpha\right)x^{n}\sum_{n=0}^{\infty}\frac{(-1)^{n}}{n!}x^{n}$$
$$= \sum_{n=0}^{\infty}\sum_{i=0}^{n} H\left(i,r,\alpha\right)\frac{(-1)^{n-i}}{(n-i)!}x^{n},$$
(13)

and, by (4) and (5),

$$\frac{\left(-\ln(1-\frac{x}{\alpha})\right)^{r+1}}{1-x}e^{-x} = \left(\frac{\ln(1-\frac{x}{\alpha})}{-x}\right)^{r+1}\frac{e^{-x}}{1-x}x^{r+1}$$

$$= \sum_{n=0}^{\infty} (-1)^n \frac{D_n^{r+1}}{\alpha^{n+r+1}n!}x^n \sum_{n=0}^{\infty} \frac{d_n}{n!}x^{n+r+1}$$

$$= \sum_{n=0}^{\infty} (-1)^n \frac{D_n^{r+1}}{\alpha^{n+r+1}n!}x^n \sum_{n=0}^{\infty} \frac{d_{n-r-1}}{(n-r-1)!}x^n$$

$$= \sum_{n=0}^{\infty} \sum_{i=0}^n \frac{(-1)^i d_{n-i-r-1}D_i^{r+1}}{\alpha^{i+r+1}i!(n-i-r-1)!}x^n.$$
(14)

With the help of (13) and (14), we have a relation between the generalized harmonic numbers of rank r, $H(n, r, \alpha)$, and Daehee numbers of order r.

Acknowledgements

We would like thank the referees for the helpful comments and motivations.

References

- [1] Benjamin, A. T., Gaebler, D., & Gaebler, R. (2013). A combinatorial approach to hyperharmonic numbers. *The Electronic Journal of Combinatorial Number Theory*, 3, 1–9.
- [2] Benjamin, A. T., Preston, G. O., & Quinn, J. J. (2002). A Stirling encounter with harmonic numbers. *Mathematics Magazine*, 75, 95–103.
- [3] Caralambides, C. A. (2002). *Enumarative Combinatorics*. New York: Chapman and Hall/Crc.
- [4] Cheon, G.-S., & El-Mikkawy, M. (2008). Generalized harmonic numbers with Riordan arrays. *Journal of Number Theory*, 128(2), 413–425.
- [5] Comtet, L. (1974). *Advanced Combinatorics*, D. Reidel Publishing Company, Dordrecht-Holland, Boston-U.S.A.
- [6] Dattoli, G., Licciardi, S., Sabia, E., & Srivastava, H. M. (2019). Some properties and generating functions of generalized harmonic numbers. *Mathematics*, 7(7), Article 577.
- [7] Dattoli, G., & Srivastava, H. M. (2008). A note on harmonic numbers, umbral calculus and generating functions. *Applied Mathematics Letters*, 21(7), 686–693.
- [8] Duran, Ö., Ömür, N. & Koparal, S. (2020). On sums with generalized harmonic, hyperharmonic and special numbers. *Miskolc Mathematical Notes*, 21(2), 791–803.
- [9] Geňcev, M. (2011). Binomial sums involving harmonic numbers. *Mathematica Slovaca*, 61(2), 215–226.

- [10] Jang, L.-C., Kim, W., Kwon, H.-I., & Kim, T. (2020). On degenerate Daehee polynomials and numbers of the third kind. *Journal of Computational and Applied Mathematics*, 364, Article 112343.
- [11] Kim, D. S., & Kim, T. (2013). Identities involving harmonic and hyperharmonic numbers. *Advances in Difference Equations*, 2013, Article 235.
- [12] Kim, T., & Kim, D. S. (2020). Some Relations of Two Type 2 Polynomials and Discrete Harmonic Numbers and Polynomials. *Symmetry*, 12(6), Article 905.
- [13] Kim, T., Kim, D. S., Kim, H. Y., & Kwon, J. (2020). Some results on degenerate Daehee and Bernoulli numbers and polynomials. *Advances in Difference Equations*, 2020, Article 311.
- [14] Kim, T., Kim, D. S., Kwon, J., & Park, S.-H. (2022). Representation by Degenerate Genocchi Polynomials. *Journal of Mathematics*, 2022, Article 2339851.
- [15] Ömür, N., & Bilgin, G. (2018). Some applications of the generalized hyperharmonic numbers of order r, $H_n^r(\alpha)$. Advances and Applications in Mathematical Sciences, 17(9), 617–627.
- [16] Ömür, N., & Koparal, S. (2018). On the matrices with the generalized hyperharmonic numbers of order *r*. *Asian-European Journal of Mathematics*, 11(3), Article 1850045.
- [17] Rim, S.-H., Kim, T., & Pyo, S.-S. (2018). Identities between harmonic, hyperharmonic and Daehee numbers. *Journal of Inequalities and Applications*, 2018, Article 168.
- [18] Santmyer, J. M. (1997) A Stirling like sequence of rational numbers. *Discrete Mathematics*, 171(1-3), 229–235.
- [19] Simsek, Y. (2014). Special numbers on analytic functions. *Applied Mathematics*, 5(7), 1091–1098.
- [20] Sofo, A., & Srivastava, H. M. (2011). Identities for the harmonic numbers and binomial coefficients. *The Ramanujan Journal*, 25(1), 93–113.